
Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 

 

Complete Spare Parts List of  

Martin Max Module Playback 

 

90732180 MaxModule Playback 

05020009 Fuse, 2A slow blow 

05247222 IEC Module In-Out Switch Fuse 

05501001 Digiswitch 

05501016 Push Switch w LCD 3Col 64x32Pi 

05550021 Button for digiswitch , 1 hole 

05552008 Knop fader f. MAXxyz 

05555000 Keycap Cherry  No text 

05555025 Keycap Cherry ^ 

05555026 Keycap Cherry  v 

05555032 Keycap Cherry Snap 

05555033 Keycap Cherry Rel 

05555034 Keycap Cherry ll/Back (Large) 

05555035 Keycap Cherry Go (Large) 

05555230 Keycap Cherry View 

05555301 Keycap Cherry  1  for LED 

05555302 Keycap Cherry  2  for LED 

05555303 Keycap Cherry  3  for LED 

05555304 Keycap Cherry  4  for LED 

05555305 Keycap Cherry  5  for LED 

05555306 Keycap Cherry  6  for LED 

05555307 Keycap Cherry 7  for LED 

05555308 Keycap Cherry  8  for LED 

05555309 Keycap Cherry  9 for LED 

05555310 Keycap Cherry  10  for LED 

06150015 PSU UNI 90-240VAC 12VD 75-100W 

08050702 M3x6 ph torx black 

08050802 M3x6 cs torx black 

08052701 M3 nut lock PA shiny 

08053805 M3x6 stand off f/f PA 

08053807 M3x10 stand off m6/f7 black 

08053814 M3x20 stand off m6/f7 black 

08054401 M3 washer lock 3,2/6 black 

08070805 M4x8 cs torx tapt spike black 

08071223 M4x12 ch low allen A2 DIN7964 

08071505 M4x10 set allen raw 

08200102 PT 2,9x6,5 ph torx black 

08220102 3.2x7.5 Pop Rivet Alu/steel cl 

11501012 1.5 m power cable, 3-pin IEC 

11840066 USB 2.0 Cable, 1m 



11840144 Cable CAT5e, RJ45 to RJ45, 2m 

11860299 Cable Power 12V MWing Bot 

11860300 Cable Power 12V-5V MWing Bot 

11860303 Cable IICMW/5LCD MWing 

11860304 Cable IICMW/10LCD MWing 

11860305 Cable IIC10F/Fader MWing 

13101008 Wire Retainer Flexible 

19440140 Rubber foot FF-7 

34240006 Plastic bag, 600x850 

62010023 PCBA Analog Fader M Slave 

62010052 PCBA Master MotFader TEST 

62010540 PCBA Go Buttons TEST 

62010549 PCBA 5 LCD wing TEST 

62010550 PCBA 10 Max Module LCD Test 

62010551 PCBA 10 Max Module Digitast Te 

62010553 PCBA 2 Max Module CHERRY Test 

62010554 PCBA 10 Max Module Play But Te 

62011026 PCBA HUB MaxMOD TEST 

62011033 PCBA USB/I2CMaxMod Playb TEST 

62011518 PCBA DC/DC MaxMod TEST 

 

 

Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 


